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HXS-U-COMA

COMMERCE AND ACCOUNTANCY (PAPER-I)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and § are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left
blank in the Question-cum-Answer Booklet must be clearly struck off.
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W@Us—A / SECTION—A

1. fr=fafaa yet § @ vds =1 3w amm 150 w=8t & i

Answer the following questions in about 150 words each : 10x5=50

(a) T@EH AHH-3 (To THo-3) H Hew 48y 3§ e FIRm)

Briefly explain the significance of  Accounting Standard-3
(AS-3).

(b) AR ©ish fase Ao (fo o 3o o) F Hew i fag=a1 Hifvy)

Discuss the importance of Employee Stock  Option  Plan
(ESOP).

(c) TEd AN Ud GET ANTG 941 8¢ ILTE Higd GHHAEY

What are sunk <cost and opportunity cost? Explain with

example.

(d) mEmR el Td F-9R °§ 91 g9y 87

What is the relationship between residential status and incidence
of tax?

(e) < wret i SraTHdian | weva W@ veged i e fifg)

Discuss the key aspects in respect of audit of insurance company.
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2. (@) X fafiee i vy fafies qEem (efwm) & =aum & ) A FwafEl 3 quden w6 T8
Fft XY fafies aam @1 faofa forn Rt stftera dsft €20,00,000 #0fi, it @ 10 wfd =R
% 200000 3ffe I # fennfra drft1 31.03.2021 # Fafadi F gem-v3 36 TR 9 ¢

feraror X fafiee Y fafige
© ®
1. zffe U,a?.'Tﬁr_q' :
1. Srurs fafy .
(a) I gsh 2,80,000| 5,00,000
(b) fEfoat @ srfemy
(=¥ wE w1f @) 60,000 3,10,000
2. Hy=fed a1
8% gifdra Fora 2,20,000 —
3. 91 afde ¢
T 29 1,08,000( 2,80,000
Fd 6,68,000| 10,90,000
11. wfeafot
1. Iryaford gieafEf
qfegufyy, 93 U@ U 2,50,000| 5,90,000
2. =7q feafat
(a) W 2,70,000| 1,00,000
(b) =R W= 88,000| 2,84,000
(c) % # T%Ha 60,000| 1,16,000
Fe 6,68,000| 10,90,000
e afrEt & ofeefEt @ it |, 39 563 @ s e =0 9= R, 5w 5=
T gEdaia foran e R
(1) X fafies & womEt 91, XY fafits & 8% ®va 10% WHiftmm w st &, fern
R

(2) v fafies $i afeufa, €93 w@ 38R #1974 €6,10,000 Fuffa

(3) X fafiees & =miits =i i gf w9 @ ageh g8 ? @ X fafies #1 9% 9w gfwmws
T @ 9 @ | afln @ s 39t @ e e s

(4) X fafies 6 =nfa €1,00,000 @ v fafiee 6 =nfd €3,00,000 i
o Ty @ I A

() 34 3R N A Fife, T w Xy o F 950 1 fGamm s F s #
e RS e s
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@@ 1 =%, 2021 F, Fm fify = waien o gen, Xy fifis w1 gom-m Faw Hifv)
(iii) X fafiee i gl 91 9= F0 g 9% fafdat afta snavas sHa vt $ift)

X Ltd. and Y Ltd. were in telecom business. Both the companies took a decision
to amalgamate and a new company XY Ltd. is to be formed with an authorized
capital of ¥20,00,000 divided into 200000 equity shares of €10 each. The
Balance Sheets of the companies as on 31.03.2021 were as under :

Particulars X Ltd. Y Ltd.
) ®

I. Equity and Liabilities :
1. Shareholders’ Fund :

(a) Share capital 2,80,000 5,00,000
(b) Reserves and Surplus
(Profit and Loss A/c) 60,000 3,10,000
2. Non-current liabilities :
8% Secured Debentures 2,20,000 -
3. Current Liabilities :
Trade Payables 1,08,000 2,80,000
Total 6,68,000( 10,90,000
II. Assets :

1. Non-current Assets :

Property, Plant and Equipment 2,50,000 5,90,000

2. Current Assets :
(a) Inventories 2,70,000 1,00,000
(b) Trade Receivables 88,000 2,84,000
(c) Cash at Bank 60,000 1,16,000
Total 6,68,000( 10,90,000

The Assets and Liabilities of the existing companies are to be transferred at
book value with the exception of some items detailed below :

(1) The debentures of X Ltd. are to be discharged by issue of
8% debentures of XY Ltd. at a premium of 10%

(2) Property, Plant and Equipment of Y Ltd. was valued at ¥6,10,000

(3) The Trade Receivables of X Ltd. are realised fully and bank balance of
X Ltd. are to be retained by the liquidator and the Trade Payables are
to be paid of the proceeds thereof

(4) Goodwill of X Ltd. was worth ¥1,00,000 and Y Ltd. was worth
¥3,00,000
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You are required to—

(i) compute the basis on which shares in XY Ltd. will be issued at par

to the shareholders of the existing companies;

() draw up a Balance Sheet of XY Ltd. as at 1st April, 2021, the date of

completion of amalgamation;

(i) pass necessary Journal Entries including bank entries for closing the

books of X Ltd. 20
(b) fTafmior g # o=t v womeht wenfia #@ & gl w@ =l S ausEe )
Explain the principles and steps in setting up a good costing system in a
manufacturing organisation. 15
(€ (i) Fuwre gsia ufwufiEt it e $sim gfeefmE i afenfia $ifm)
(i) SFeuETeE AR Gefwre $ofima el w F A IO FR A 7
(i) Define short-term capital assets and long-term capital assets.
(i) How to compute tax on short- and long-term capital gains? 15
3. (a) +f B (49 =¥), & framd =, 31 W, 2021 # AW T 9t a6 | Fafva Frefaied
Tora wega e @
I 98T 3§ I 9 @ & favewn | Feafafaa et &1 gar 9o 2—
®©
o @reft s | FErn 4,00,000
o 0§ W F forg x (P) ffiee & wm oftt fres forg ar frea 4 ant @
forrn 9fg % fore snaelia R @ o1 (39 W e ant & 28 = T am ?
T F8 R A, 2020 F IR gEarand gan #) 3,00,000
o IR, S 3FH T i R, ¥ 3R fren 1,20,000
o T % far @ IwEr fren 1,60,000
o Ho dio T M A i g (Faw) 1,40,000
o Sed TN (YE F AW @Rl Wi F TR g0 yE e wifs
Glieer g % AR R & 3ifm w9 7E 2 wH) 6,20,000
o EF dfwr-ua @ e ofy 4,40,000
3 SHFR
(i) 971 12AA ¥ d&d Usfigha unidl =\ &1 7%a 3F fen 24,000
(ii) a§ & A < wigss Ffy (fro fo who) @ F s 17,800
(iii) Igh! Ao el F AW W A wias iy @m % g 1,50,000
(iv) 9% weifirn § S Jfy &1 i B 1 367 398 FW 3w Afia 6 3,60,000
i B & w-Rufor 9§ 2021-22 & fow F-am sma it Gor Fifg)
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Mr. B (49 years), a resident individual, furnishes the following particulars
pertaining to the year ending 31st March, 2021 :

Analysis of his bank account in his ledger reveals the under-mentioned data—

®
* Rent received for a vacant plot of land 4,00,000
* Amount received from X (P) Ltd. for a house at Pune for which
he had been in negotiation for rent enhancement since last
4 years (this has not been taxed in any earlier year. However,
this house is transferred during March, 2020) 3,00,000
* Gift received from Alekhyo, his best friend 1,20,000
¢ Gift received from mother’s father 1,60,000
* Winning from a TV game show (net) 1,40,000
* Amount forfeited (initially paid by a buyer of his vacant plot,
since the buyer could not finalise the deal as per agreement) 6,20,000
* Amount received under Keyman Insurance Policy 4,40,000
Other information :
() Donation given in cash to a charitable trust registered under
Section 12AA 24,000
(i) Interest credited in the Public Provident Fund (PPF) account
during the year 17,800
(i) Public Provident Fund paid in the name of his minor daughter 1,50,000
(iv) He owns agricultural lands at Malaysia. He has derived
agricultural income therefrom 3,60,000
Compute the taxable income of Mr. B for the assessment year 2021-22. 20
(b) TEZ I FT 87 TWH Al ) FHFEYY
What is right share? Explain its advantages. 15

(c) T HREH A IUE 3 UEasT A 3R B & TeRa1 1 WGRT A W 5% B IgEd @ i wfFn
BW 2% | 3993 % fiaem @ 39 ft 3@ 78 @ R1 ged, 2021 ¥ dww, whmaw A €6
ufd g1 <A 0T < @t 6 10000 TEEAT wgw A T off | I AT 39 v o

ufFar A yf#ar B

® ®
qrgft —_ 6,140
9q 10,000 6,000
i 6,000 4,600

ufsear A & Frfa (3mege) 9300 gl ot wfmn B firfa 9200 At o)
Tishan S aun S B /e o R i)
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In a factory, the product passes through two processes, A and B. Loss of 5% is
allowed in process A and 2% in process B. Nothing being realised by disposal of
the wastage. During July, 2021, 10000 units of material costing ¥ 6 each were
introduced in process A. The other costs were as follows :

Process A Process B

©) ®)
Materials — 6,140
Labour 10,000 6,000
Overheads 6,000 4,600
The output was 9300 units from process A. The output of process B was
9200 units.
Prepare Process Accounts and Abnormal Loss/Gain Accounts. 15

4. (a) ABCFv U (3gA) SN ¥ | I @i faveivvr | w2 Bl e—

for @ #1,00,000 =¥ ¥ ferg
gftadf s # 40 wfa A

Tasra ge ? 140 wfa A=

gl 2000 &St fe =

(i) wm-fa=dg famg (dfto §o o) = van Hifsry)

(i) ¥60,000 @M Afid F F g I 91 e A A F@n w1 ga i)

(iii) (i) W@ (i) % Fore @ 3w €, afe wfa A s we seee € 120 & s @7

(iv) R w9 €4,000 fefer fRR @ & @9 vl af 600 3§ sifus a1 vt 2, @
IR (i) v wfd s @ SATg W % forg fasea e g = fee?

ABC company produces tables. An analysis of their accounting reveals—

Fixed cost ¥1,00,000 for the year
Variable cost ¥40 per table

Selling price ¥ 140 per table
Capacity 2000 tables per year

() Find the break-even point (BEP).
(i) Find the number of tables to be sold to get a profit of ¥60,000.

(i) What will be the answer for (i) and (i), if selling price changes to
¥ 120 per table?

(iv) If the company can manufacture 600 tables more per year with an
additional fixed cost of 4,000, what should be the selling price to
maintain the profit per table as (i) above? 20

(b) ‘‘Sraia fiofa R F fog e gE womeh ®1” wwmen ) weeht famwaed @ =@y

“Accounting is an information system for decision making.” Explain. State its

characteristics. 15
(c) T-NEaET 1 &7 6% Segdl I GHHISY | F-A@IAEF 1 8 Hohel &7
What is tax audit? Explain its objectives. Who can be a tax auditor? 15
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WUvs—B / SECTION—B

5. Frafafad vl § @ 9% 1 IR @ 150 =) § A
Answer the following questions in about 150 words each : 10%x5=50
(@) “MRau-wfowa fafrma-wem (Feh-fed 3e-aitw) w27 foxfa fofam & so% wem ) wwgmsw)

What is risk-return trade-off? Explain its significance in financial decision
making,

(b) AgEEa ISt wTE I gRenfya Ffg)| sk Fufe-awl 6 faaem i)
Define optimum capital structure. Discuss its determinants,
(c) Uit Tt @ 27 g Twife 3 fagidl = awemsw)
What is capital rationing? Explain the principles of capital rationing.
(d) T ata sHafa I egie # waw # wwemEe)
Briefly explain any five innovative debt instruments.
(e) W I FI wgEl 3 # Siflaw G5 foaediam (o o who) F e +1 wwFRY)

Explain the importance of venture capital financing (VCF) in promoting
start-up enterprises.

6. (a) iy veumew fafits %  w few % < wwae E—afEs X 3R aiEsm v 3 9w sm=
£ afEiem X % e € 3-4 e it s ama 6 sawgsa dd @ R ufdee v # foag
¥3:3 #g il JRME @ $it sed Bt 21 M afEeEe % fog sifan-gw ® 8% 1
g X % fore Siftam diftmm 2t 2% # ok afEem v & foe 4% #)

31 gREeEIS] & YR T state R Ffvada geamm o e g g E

qREISHT X RIS Y
Y | yenfira Q% srafz |do $o (CE)| yefia d%e sr=ale | o Fo (CE)
1 ?1-8 s -85 ?1-8 Fg ‘90
2 ¥2:0 Fs 75 ¥1-8 g -85
3 2.0 Fs -60 #2:0 FI 75
3 aﬁ%mlﬁo dto Tho

] 3f2 a3

Yo dfle The @ 8% ‘926 857 794
Glo dle Tho @ 10% 909 -826 751
bio dio Tho @ 12% -893 797 712

T Tawga faawit @ fuifa $Fifsg f—

(i) <hifaw-wamifm ge « fafy (eh-tgees fewre= T Aue);

(ii) TR geom gfe fafa (weR sfrdeme sige Ae);

1 IYART HH IH1 giEel § A SE-d afese @i i s i)
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(b)

(c)

(@)

The Zenith Enterprises Ltd. has two investment proposals—project X and
project Y. These are mutually exclusive. Project X requires an initial outlay of
¥3-4 crores and project Y requires an initial outlay of ¥ 33 crores. The risk-free
rate is 8% for both the projects. The risk premium rate for project X is 2% and
project Y is 4%.

The expected cash inflow and certainty equivalent coefficient for projects are
given below :

Project X Project Y
Year| Expected Cash Inflow | CE | Expected Cash Inflow | CE
1 ¥ 1-8 crores -85 ¥1-8 crores 90
2 ¥2:0 crores 75 ¥ 1-8 crores -85
3 ¥2:0 crores 60 ¥2:0 crores 75

The PVF for 3 years :

Year 1 Year 2 Year 3

PVF @ 8% ‘926 857 794
PVF @ 10% ‘909 ‘826 ‘751
PVF @ 12% -893 797 T12

From these details, determine which of the two projects should be accepted by
using—
(i) risk-adjusted discount rate method;

(i) certainty equivalent approach method.

ar@ Fifd 7 27 vF UEE 6 IUR-UEAT F AHeH HA § WHA TGS B FHAEY

What is credit policy? Explain the criteria involved in assessing the credit-
worthiness of a customer.

i #§ iy A 2= A siEeE-uiE & st ) fEean i)

Discuss the phases of operating procedures of monetary policy framework in
India.

XYZ TR 60% &9a1 T FH =, T 99 48000 3Rl F1 Iaured Frafafad @vm gea
Eﬁmaﬂ'@ﬁ%

BRI ¥ 5 ufd 3E
wegdl 7 3 w31
Iufea (afadaefier) ¥ 2 ufd 7
i (fén) ¥ 1 vfa i
™ 2 ufd ghr
T ea €13 wfa =

20

15

15
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91e] yiEafyaf @ e 36 TR 9

@)
w1 /e 4000 $HIFAT AFTd W 20,000
|16 FE 1000 AT AP W 8,000
AR "1 3000 FHIEAT AT W 33,000
fafqy IR 78,000
A % TR 30,000
g 1 qIfrE 3,000
Tl %1 e 6,000

Icg Y wredt win F @ gY 7 Freww fwm mn R 5 1.1.2021 @ = A 80% &Wa1 W
FW HEAT MY | AR I I @A §Y AR @S A FRa st 1 ga T
6 avEEa B T f Fia, 7egh W awl f R R wfa @ e ge § 9 aeaa
7€ 2| TEeRl I IgHd IuR N aafy, gfdERt g agEa 3uw i Wiy @ eigh v @l %
e & faema @@ 6 wifa =3 @)

XYZ Co. is operating on 60% capacity, producing 48000 units per annum at
the following cost price structure :

Raw material ¥5 per unit

Wages ¥ 3 per unit

Overhead (variable) ¥ 2 per unit

Overhead (fixed) ¥ 1 per unit

Profit ¥2 per unit

Selling Price ¥ 13 per unit

The current assets and liabilities were as follows :
®

Raw material 4000 units at cost 20,000
Work-in-progress 1000 units at cost 8,000
Finished goods 3000 units at cost 33,000
Sundry debtors 78,000
Creditors for goods 30,000
Liability for wages 3,000
Liability for expenses 6,000

In view of the increased demand for the product, it has been decided that from
1.1.2021 the unit should operate at 80% capacity. You are required to
ascertain the additional working capital as would be necessary in view of
additional production. The price of materials, rates of wages and expenses and
selling price per unit will not be changed. The period of credit allowed to
customers, credit allowed by suppliers and also time lag in payment of wages
and expenses shall remain the same as before.

HXS-U-COMA/7 10
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(b) g fafies $ Frafafea Jsfm v @

goft % @l g 4 R g9 St gt
@ @
30000 3fFfe =1, € 100 7 30,00,000 120
10000 8% 3fftm™ ¥4, & 100 Y% 10,00,000 108
20000 10% 99, ¥ 100 T 20,00,000 105

Fl F o 3R W W 5% e W F WY 20% @i B FA A I=fie B Ffia
(FRaRe) T A W 30% 3R Pl asiw F:10% 21 e A §fit A wiia sfwa arm
(8550 To Hlo Hio) = Tihei—

(i) &S qed R F &9 ¥,

(i) SR qed ¥R % ¥ ¥;

TR FA §Y i |

Shasun Ltd. has the following capital structure :

Sources of Capital Book value | Market value per security
©) \9]
30000 equity shares of ¥ 100 each | 30,00,000 120
10000 8% preference shares of ¥ 100
each 10,00,000 108
20000 10% debentures of ¥ 100 each | 20,00,000 105

The company is expected to declare 20% dividend on its equity share with a
growth rate of 5%. The corporate tax rate is 30% and corporate dividend tax is
10%. Calculate Weighted Average Cost of Capital (WACC) of the company
using—

() book value as weight;

(i) market value as weight. 15
(c) v fimr & 8 3MMgo 3o o Wo i e Hi fag=mn i
Discuss the role of IRDA in Indian insurance sector. 15

8. () U w9 A IS 100 9 I F WY 100 Fg B AFA A IR IR T T W

fir @ &1 ot = fwa o, S enft gw gon @, A Tt w €6 vl IR e aifta w3

# Ao 5 W R T o sifam ol 3 el R s ol R 10% B 1 AifeEr-firer

(THe THo) Hferew 1 WA s fr=fafiaa & 3w difve .

(i) = F g w I R Faa w1 R i, (1) T aih s T g ek
(2) e a7 foman man 21

(i) T& FFER T6 o 3 e fen R, seehl fraa s €10 s @ 3R 9% €20 g W
a1 Faw =0 ¥ e TEd 2, 9 e SE A 993 g w6 uiee Fifi)

(ifi) ¥ 1 geq T hIfrg, AR (1) enwrw =i e T @ eiR (2) e fva T A
T R
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A company has a capital of ¥ 100 crores with shares of ¥ 100 each. The shares
are currently quoted at par in the market. The company is planning to declare
a dividend of ¥6 per share at the end of current financial year which has just
started. The rate of capitalisation for the risk class to which the company
belongs is 10%. Using Modigliani-Miller (MM) model, answer the following :

(i) Calculate the price of the shares at the end of the year, if
(1) dividend is declared and (2) dividend is not declared.

(i) Calculate the number of shares to be issued assuming the company
pays dividend, has net income of ¥10 crores and make new
investment of ¥20 crores during the year.

(i) Find out the value of the firm, if (1) dividend is declared and
(2) dividend is not declared. 20

(b) T fafmio g & AregE yEua A fafim 9l | 98y 3§ gagm)

Briefly explain the different techniques of inventory management in a

manufacturing unit. 15
(c) FFA HHESl % FIEY s &7 § yg@ gur! i faa=n fifs)
Discuss the key reforms in banking sector in line with BASEL norms. 15
* ke
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